ng/L ng/g-dry
S60 | 0/27 | 0/9 nd 200
H28 | 0/15 | 0/15 nd 2.8
[ j1- -9.10- S60 | 1/21 | 1/7 nd 22 20
H28 | 1/45 | 1/15 | nd 7.1 0.84
) s58 | 0/33 | 0711 nd 800 40,000
[2] 2: H4 | 0/42 | 0/14 nd 200
H28 | 0/15 | 0/15 nd 18
[3-1] 1,3,5(10) - H17 | 16/30 | 6/10 | nd 5.8 0.11
[3] 3 -1 H28 | 10/15 | 10/15 | nd 4.1 0.046
[3-2] -3- H28 | 8/15 | 8/15 | nd 3.4 0.068
[3-3] -3- H28 | 0/15 | 0/15 nd 0.50
[41 |12 -3( ) H28 | 0/15 | 0/15 nd 240
[51 H28 | 30/30 | 10/10 | 160 740 49
[6] [‘}](2’6' ) H28 | 15/16 | 15/16 | nd 76 0.17
(15,45)-4-(3,4-
| v -1,2.3,4- H28 | 7/16 | 7/16 | nd 3.6 0.44
i8] |55 -2,4- H18 | 9/33 | 3/11 | nd 11 2.2
H28 | 2/15 | 2/15 | nd 28 2.1
s58 | 0/30 | 0/10 nd 100
[9] H28 | 0/15 | 0/15 nd 0.57
H28 | 0/39 | 0/13 nd 1.9
[10] :;’:3 ) H28 | 0/23 | 0/8 nd 0.076
.3- -1-
[111| )= H28 | 0/24 | 0/8 nd 0.015
(2!3_ )
S51 | 3/70 | 3/48 | nd 860 50 200
[12] | m- H3 | 0/57 | 0/19 nd 200
H28 | 0/15 | 0/15 nd 3.2
$53 | 1/30 | 1/10 | nd 130 | 80 10,000
(11 | p- s54 | 0/111 | 0/37 nd 40 5,000
p H6 | 0/36 | 0/12 nd 600
H28 | 14/15 | 14/15 | nd 240 4.6
s62 | 0/87 | 0/29 nd 2,000
[14] H28 | 1/16 | 1/16 | nd 2,700 4.3
H28 | 6/45 | 3/15 | nd 3.7 0.91
(3S,4R)-3-[(2H-1, 3-
5] > )) 1-4-C4- H28 | 1/16 | 1/16 | nd 2.9 0.65
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